KCL

VQ Series Double Pump Ordering Code
VQ # 714 R 3TRE 45 5

VQ215 SVQ215
VQ225 SVQ315
VQ325 DVQ425
VQ425 SVvQ425
VQ435  SVQ435
DVQ435
ORDERING CODE
R TR 5]
EX : (VQ215-26-17-F-RALD-02) EX : (SVQ315-94-17-F-RAAA-02)
Series | P1:Discharge | P2:Discharge | Mounting|gphaft Rotation|Discharge Port SucFign Port' Discharge Port Shaft
Number| Port c.c/rev | Port c.c/rev |Type (view from Shaft  |Position (P1) Shaft End Pump| POsition (view | Position (P2) Cover End Pumy Tvpe
Shaft End | Cover End End) (view from ShatEnd)  |fyom Shaft End)| (view flom Shaft End) P
A X, Pl-#h o P2- 4o EX L L PlhomEse (SkomEsé | P2hiomBEye | O
ETT) Girds) | AR |((Bowrad) | (doewyak) ((dokihg) (dowrhg) | R
18,22,26,32 18,22,26,32 ,
VQ225 | 3843.47,52 38,43.47,52 A:Upward @& L
60,65,75 60,65,75 F: R: (normal) 01
: : . A:Upward A:Upward B:Downward & F
60,66,76 6,8,11,14 Flange Clockwise (normal) (normal) R:Right Hand # -02
SVO315 82,88,94 17,19,23 Type B B 4t . . . _
Q 108.116.125 26,3138 il T b %k L:Left Hand £ & 03
VQ215 18,22,26,32 6,8,11,14 ] B:Downward B:Downward A:On Right Hand
SVOals| 384347.52 17,1923 L: L. aF aF Upward 45°
Q 60,65,75 26,3138 Eoot élntli( . (normal)
ype ockwise R:Right R:Right A L45°
60,66,76 18,22,26,32 o o - ‘
VQ325 82:88:94 38,43,47,52 e 2 R B &t Hand Hand B:On Right Hand
108,116,125 60,65,75 P poao] Downward 45°
VQ425 # F45°
136,156 18,22,26,32 L:Left L:Left C:On Left Hand
SVQ425 189,200 38,43,47,52 Hand Hand Downward 45°
DVQ425| 216,237 60,65,75 s oy 2450
VQ435 136,156 60,66,76,82 D:On Left Hand
SVQ435( 189,200 88,94,108 Upward 45°
DVQ435| 216,237 116,125 % 450
DOUBLE PUMP WEIGHT LIST(Kg)
#rEzk (Ko
VQ215 | VQ225 |SVQ215(SVQ315| VQ325 | VQ425 |DVQ425|SVQ425| VQ435 |DVQ435|SVQ435
Flange Type 24 30.6 32 44 .4 50 63 73 80 76 84 91
Foot Type 29 35.5 40 52 58 71 104 111 93 115 122
Ouiigt fenletl 25 3.2 3.2 3.5 3.5 48 48 48 5.2 5.2 5.2




KCL

VQ Series Double Pump Dimensional Drawing

VQ % 714 RSN R B

9127

fe

2-¢17.5 HOLES
826 SPOT FACER 1 DEEP

VQ2 1 5 110 80
DISCHARGE PORT P1 925 — | _
SUCTION PORT @56 u _ FE% _%' : /"\
| $§I Pray Fany Pra IoN
N A\ % 7 o
@] —
F 1 é \@’ /312 - 2 4 | 2 h\\/ g
VL INA =S “ T 4 (L'T‘
L) 0| |n it
® 2324 4-813.5 HOLES 120
$21 SPOT FACER 115 | 38 95 | 95
429| 262 \ L 1 DEEP 230
4-M12x1.75P DEEP 19 \4_M10x1.5P DEEP 18
Foot Type (Fp &)
- , 407
- =, s ) A ] B clL
DISCHARGE PORT P2 819 ﬁ s 11\16(/)3.g4d8h2}§t3 oy [NOOLShaR 91223 245 16351 61
éI 30° P 1 NO.02-Shaft [#25.4 | 28.18 | 6.35| 61
— Pressure angle iy o3 Shaft| 830 | 33 | 7 | 68
4-M10x1.5P DEEP 19 Flat root side fit. NO.04-Shaft | _Spline shaft 7/8" -13T
171
256
110 80 1| L 9.9 146
F| FA
[ 1 <| M
1Tt w 71N
S L/
a
¥ ‘é‘ 2-913.5 HOLES \[\ /J/
—— A3 21 SPOTFACER
23 1 DEEP
SVQ2 1 5 4-¢17.5 HOLES
88 101.6 926 SPOT FACER 1 DEEP
I ' 'J‘_|
DISCHARGE PORT P1 $25 9.5 ‘q' i
26.2 ],_, o
SUCTION PORT 856 \\ — - |:, -
a 23 _d_ ! pls
@ © =
N\ ﬂ@%\e - 762|735 " 151 '
U o @ 35.9 1175 | 1175
® JLQ e 131 274
= 32 || 4
Ny / i Foot Type (% & &) )
4-M12x1.75P DEEP19/ 50.8 / - . 40.7
s 4-M10x1.5P-DEEP 18 : . x m T L
—t— DISCHARGE PORT P2 919 145" NO.04-Shaft NO.01-Shaft |822.23| 24.5 | 6.35| 61
° 16/32 d.p. 13teeth  [NO.02-Shaft [#25.4 | 28.18] 6.35] 61
¥ 30° pressure angle [NO.03-Shaft| 30 33 7 | 68
4-M10x1.5P DEEP 19 Flat root side fit. NO.04-Shaft | Spline shaft 7/8" -13T
257 218
88 1016 38.1 L g 181
— T <7 <
I 1 T <| A y/‘\]\
s NUEEIR=
% I 7S C//\ A
ﬁ i \ J!y/\/




KCL

VQ Series Double Pump Dimensional Drawing

VQ % 7% & Sh R R T

DISCHARGE PORT 2
VQ225 P2 9245 25 338
SUCTION PORT 856 - 109 109 106
- ~ 3 AT |
: © 23 &= ( / \ o
paNThER oS A .
of = N | < D
g g NAE \J %]: 7 EH' i+ L kj g
e ej &\ o1 N | =
g l e \ 5 (e b :
f 60 73 120
s [l _ S T -
DEEP TS 202 DISCHARGE PORT] > \AMIOSLSP Poeer ' 230
4-M12x1.75P BT DEEP 18
DEEP 19 Foot Type (& A )
455 40.7
7.9 7.9
s NO.5 Shaft |5 NO.04-Shaft ALlB L C
E [I55° 16/32 d.p. -15 teeth " 16/32d 13 tecth NO.01-Shaft [#22.23] 245 | 6.35
30° pressure angle /32 d.p. -1 teet NO.02-Shaft [#25.4 | 28.18] 6.35
] : 30" pressure angle NO.03-Shaft| 830 | 33 | 7
flat root side fit . :
flat root side fit. NO.04-Shaft [Spline shaft 7/8" -13T
- NO.05-Shaft | Spline shaft 1" -15T
358
108.5 109 381, 68 173
555 146
R T T TSR = =
2 o | e ny / \
) T H - N
= - HAD 6 £
= O
23| F< )
+<z m — @\ /@
2-913.5 HOLES
25 SPOT FACE 1 DEEP
SVQ3 1 5 . 380 4-917.5 HOLES
120 122 . 112 26 SPOT FACER | DEEP
DISCHARGE PORT P1 30 21 nEREE J‘ <
SUCTION PORT 878.5 ° —L-. ﬁs \ o~
\ N 5 —H AN AVA s
DISCHARGE PORT P2 ¢19 25 % ): \J g
'@' ] | & AN i i S
£y \ ARG 762 |_ 88 P 151
NS M ] \\ l—1 = 131 |50 u7s | 1175
2+ ¢ \J o\ WV / I | — ' 274
[~/ Al
b | ¢/
Bk % _@_ ] Foot Type (Hp 5 ! )
/
22 ]
61.9 A B
4-M10x1.5P DEEP 19 302 NO.01-Shaft | #31.75 | 35.32
NO.02-Shaft | $34.9 38.56
4-M16x2.0P DEEP 19 4-M10x1.5P DEEP 19
380 | = 214
120 122 , 112 237 181
5 <| =
|
! — N r 53 —r—
“ T I 40 - V N
7 gl I8 || N g2
e —_— F 4 1 A
Z ) 5 S+—P—of ©
- s g U Rz
i-_% _ Y
~ 7 2-817.5 HOLES T
3 826 SPOT FACE | DEEP




KCL

VQ Series Double Pump Dimensional Drawing

VQ 4 7% % 5N R~ E

VQ325

DISCHARGE PORT P1 @30

SUCTION PORT @78.5

\

I

RN

403

4-¢17.5 HOLES

138.5

1155

B (O Y

826 SPOT FACER 1 DEEP

©

N

217

109.5

\

(&)
©
< \ '’ |
: N el x
ﬁa 76.2 88 | 1|51 |
117.5 117.5
-@-&ﬂ @ - 131 50 t {
274
61.9 309
. \ 4-M10x1.5P DEEP 19 Foot Type (& )
4-M10x1.5P DEEP 18 4-M16x2.0P DEEP 19
A B
NO.01-Shaft [#31.75[ 35.32
NO.02-Shaft [834.9 | 38.56
DISCHARGE PORT
P2 8245
403
138.5 115.5 112
pe 213
3 181
I = 47 a © 7 |
| [- $3| 23 i
8 - <|m| _z =
_ F< :
2 JJ— 5 —- &
s =
- ; 2-617.5 HOLES
3 $26 SPOT FACER 1 DEEP
VQ425 13 445 4-917.5 HOLES
DISCHARGE PORT Pl #38 2" ” NPE— 396 SEOT FACER T DEED
SUCTION PORT @85 | —
i i T o
.S %7; A i ﬁm J (AN F
e\| & 1 2 < T
s =] N
= N\ N v e T k/ T 2
& il j I o =
58 k/ ® i © il
& 7621 95 ! 151 !
el - - r 131 59 | 117.5 | 117.5 |
69.9 \ | 274
357
\ 4-M12x1.75P DEEP 20
Foot Type (#ép sz &
DISCHARGE PORT _ \ , \ oo oo ype ( )
P2 9245
-M10x1.5P DEEP 18
445
362
154 1194 52| g3 211
| [ 67 181
. N N S = 1l
T | | N e
NC R TIE=
8 - s 5.z %
. £ i N NP\
% K 5 N ~
N s
. _g_ 1 2-¢17.5 HOLES
4| #26 SPOT FACER 1 DEEP -




KCL

VQ Series Double Pump Dimensional Drawing

VQ

LRI R B

DVQ425

0 4575 4-922 HOLES
SUCTION PORT @86 3 164 129__81.3__|54 [ 943 SPOT FACER 1 DEEP
IS
\ ] 23 93
i T = emry § F
?\ 58 1
) -L_= K\ -
A ] =2 & n &
N N ] N
- \\J Q! || %
250 > 2
W 2 c 1z
s ‘F —H
DISCHARGE PORT P1 #38 280 n
4-M16x2.0P DEEP 19 9 35.7 4-M12x1.75P DEEP 20 114.3 | 39 374.6 ©
185 438
Foot Type (B e #)
26.2
4575 273 .
164 129 43 83 | d + 228.6
9 2
— - 3
] 67 | =| &
N P - g g & g _
g = ) :!' 55
gl =
- T D m |—_— ) § /\
TS 2
g \g|j o N Q
r a
~ 7
o ) -
3 4-622 HOLES
935 SPOT FACER 1 DEEP
% 13 . 5125
SUCTION PORT 986 R e 4-922 HOLES
i I g 43 SPOT FACER 1 DEEP
23|29
—_ a2 F
i < = _
fi ® ) ol 2 \ /] /\“‘
TR A= il s
(=1 — o
2] S NP ] ‘ b lj \/ "
\J / ol . . .
2\ IoN —
e 9 \N g T v ] —
[=|
a DISCHARGE PORT P1 @38 1143 |39 L%-I .
4-M16x2.0P DEEP 19 69.9 35.7 4-M12x1.75P DEEP 20 185 e
Foot Type (Hap & A )
DISCHARGE PORT P2 #24.5
26.2
512.5 273 |
1625 181.5 50 8l . 2286
= 737 S —
N /L_,L- SEBM ey N2 —4
PN <t
S
8| = o I_ﬁ_ - K \
j 2
2< N 2
ol | AR i N S
- LuEY o
E a -

\_4-922 HOLES

935 SPOT FACER 1 DEEP




KCL

VQ Series Double Pump Dimensional Drawing

VQ % 7% R IR H

4-¢17.5 HOLES

Q DISCHARGE PORT P1 #38 a3 06
SUCTION PORT @101 f _ 179 136 51 _83 326 SPOT FACER 1 DEEP
=}
J g B
.8
S 0
®\| © @ Y
\ ® e\ & $ —
i N | I 1] 1
e kj == Y
i A g
an ) ] i B i
\y | | 76.2! 9|5 1 151
J 131 |59 1175 _|_117.5
4-M16x2.0P DEEP 19 / 77.8 \L 274
35.7
DISCHARGE PORT P2 330
\ 4-M12x1.75P DEEP 20 .
Foot Type (% & 2!)
179 136 51, 8 |-ges 211
e 181
A N Wy A
o L 1/ .
TP ey =l 67 o
' é§ Vi) ﬁ% 2
kl)/ 5 D \\\y & -
e 2-917.5 HOLES
$26 SPOT FACER 1 DEEP i
3
DVQ43 5 ' 501 4-¢22 HOLES
179 136,43, 83 @43 SPOT FACER 1 DEEP
30 13 o
SUCTION PORT #101 -l = [\ T 154
a/BEE BT A 1 /@\ .
— -— o~
fﬁ — ot® T ¥ li 0/ Ll o &
L [N
® | o
o L1 = + |z
LINE NP RN E: i
- I 280 <
P ] o \g\ - 1143 |39 e @
7, F 2 -
=}
$/ / 185 438
/ 7738 —
4-M16x2.0P DEEP 19 . 35.7
DISCHARGE PORT P1 @38
Foot Type (#7 & &)
4-M12x1.75P DEEP 20
DISCHARGE PORT P2 30
4-M10x1.5P DEEP 19
501 ) 273 )
179 136 43, 83 5 = 8.6
e
— el 4 —T—
v | 67 | D— — _
— — o ol N/ Y
o e ] 1 E]s
<| — w
il ) — = / \ <
< AN o6
RE VAR
R=Y
a | , |
3
= 4-922 HOLES

@35 SPOT FACER 1 DEEP




KCL

VQ Series Double Pump Dimensional Drawing

VQ % 714 R M R B

SVQ435

—

SUCTION PORT @101

—

28 13

+0
+0

>

I
9.54 _0.021
938.1 —0.021

130.2

F4n)

%

i)

TR

g | i
N
(=)
— =l

4-M16x2.0P DEEP 19 /

77.8

58.7
R

556

4-¢22 HOLES

179

189.5 81.3, [|47.5 | 943 SPOT FACER 1 DEEP

35.7
\)ISCHARGE PORT P1 38
4-M12x1.75P DEEP 20

DISCHARGE PORT P2 ¢30

4-M10x1.5P DEEP 19

137
30.2
556

179 189.5 50 81 =

Sleg

b

L] -8 2 3

- S| g
3= [Ny 55 o
£ =
<
ol
ht!
LENRNE :

=

Lj"%
axy
P

—|185 438

Foot Type (#p & &)

I | T
AN
)
&
T huni i (T
280 =
114.3 | 39 3746

4-¢22 HOLES

273
| 228.6
—
_ 172
)

&)
N

©35 SPOT FACER 1 DEEP




